eco
PASS

PORT. :hager

Product Environmental Profile

Ext.unit f. rotary dimmer

Company information ‘ References covered

Hager For the complete list of the covered references, see details in Appendix 1.
132 Boulevard d’Europe

F 67215 Obernai Cedex

www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification To control and vary the lighting level of one low-voltage lighting circuit, under a nominal voltage of 230V and a
WTN4041WG nominal current of 16 A, over a reference service life of 10 years.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.15. OTHER EQUIPMENT - ACTIVE PRODUCTS product.

PEP ecopassport 1/5 HAGE-01502-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

PEP ecopassport

Plastics Metals Others
g % [¢] % [¢] %

Epoxy resin 6.00 4.9% Ferrites 10.80 8.8% Cardboard 32.71 26.6%

PAG6 3.39 2.8% Steel 7.26 5.9% Formaldehyde 5.96 4.8%

Epoxy resin 2.55 2.1% Stainless steel 4.48 3.6% Urea 5.96 4.8%

PE-LD 2.41 2.0% Copper 3.41 2.8% Cellulose acetate fibres 5.22 4.2%

PBT 0.52 0.4% Brass 2.42 2.0% Glass 4.23 3.4%

Other 0.83 0.7% Other 9.41 7.6% Other 15.51 12.6%
:::(Iazs‘zs:of reference product with raw material 123.08 g
Total mass of reference product 117.09g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D

=)

£
. © 0
2 2 o 20 2
c 2 £ £ o 2 0 ]
£ S s s 53 = 5 B | >3 2
S o ug P-] = c2 © k<] - c9 35
£e c 2 o8 89 oS 8 k= c %% 2% 5 28 o2 S8
X9 o] E} c 8 c 2 T 2 c . @ S S8 c g S TE 2s = k-
3 E 2 so 8o S = 8 3 g s E® 2w = 53 g > 2 25
g8 2 S 325 T o 29 [} & o S L9 o2 3 g2 - @ a © 5
= O ES = 2 £ Q3 = 3] © 2 s 0 2w 7] = > @ w 2
L g =3 T o T Q © T c ['4 5 7] S 5 5 S 2 gm o 3 2] 8 =
S o 2 § o 3 3 52 c ) & g e g e © =0 €3 e T o

£ bet 2 © 2o a = x = = o < a [ [Ch= =4

5 5 = Oga £ a 0 o > == g £ - g =
2 a © o o 2 =) 5} s ¢ m o
T @ £ < =] = 2 ) © o c
4 2 = = uc> © £ Qa o
S L = [ >
= 2 Eel

i

s}

B3 B4

Life cycle stages

Distribution

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

Manufacturing

These products are manufactured by a site that has received an environmental certification
ISO 14001.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase takes into account raw materials, manufacturing processes, production offcuts

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power consumption / not load dependent

Power loss / load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase

Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0.04 30.0% 0 70.0% 0 30.0% 0.35 70.0% 0 0.0%
This corresponds to a total energy consumption of 22.51 kWh for the use span of 10 years.
Energy model of the use phase :
Europe
Consumables and 1ance :
None

2/5 HAGE-01502-V01.01-EN



Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 31%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.4-4 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A5 C1-C4
Europe Europe Europe Europe

tal impact indicat

R
Envir

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit A1-A3 A4 A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 6.87E-03 3.15E-05 1.03E-04 3.11E-02 1.68E-04 3.83E-02 -1.47E-04
Climate change - Total (PEF-GWP) kg CO2 eq. 9.64E-01 2.02E-02 8.29E-02 5.26E+00 1.76E-01 6.51E+00 -3.64E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -3.43E-02 3.32E-05 5.04E-02 2.06E-01 1.38E-02 2.36E-01 -3.08E-04
Climate change-Fossil (PEF-GWP¥) kg CO2 eq. 9.98E-01 2.01E-02 3.24E-02 5.06E+00 1.62E-01 6.27E+00 -3.61E-02
Climate change-Land use and land use change K

g CO2 eq. 2.97E-07 3.05E-08 3.54E-10 1.76E-07 7.06E-10 5.05E-07 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.65E+01 5.78E-01 4.83E-01 1.03E+01 4.23E+00 8.21E+01 -8.46E-02
EF-particulate Matter (PEF-PM) '”gi'::;‘scss"f 4.57E-08 2.71E-10 6.09E-10 2.72E-07 1.44E-09 3.20E-07 -2.50E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 3.71E-06 7.53E-08 4.60E-07 2.40E-05 1.50E-06 2.97E-05 -8.27E-06
Eutrophication, marine (PEF-Epm) kg N eq. 7.54E-04 5.74E-06 4.30E-05 3.13E-03 4.85E-05 3.98E-03 -2.48E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 8.48E-03 6.30E-05 3.18E-04 6.06E-02 4.98E-04 7.00E-02 -2.96E-04
Human toxicity, cancer (PEF-CTUh-c) CTUh 5.51E-08 3.91E-12 3.65E-09 7.04E-09 3.68E-08 1.03E-07 -2.31E-10
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 4.31E-08 7.46E-11 1.07E-10 2.35E-08 5.11E-09 7.19E-08 -8.34E-10
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 3.66E+00 7.07E-04 5.56E-03 1.27E+01 4.10E-03 1.64E+01 -4.33E-04
Land use (PEF-LU) No dimension 1.80E-01 1.33E-04 3.44E-03 8.40E+00 4.67E-02 8.63E+00 -7.35E-01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.56E-07 2.35E-10 5.17E-10 4.98E-08 2.70E-09 2.09E-07 -1.29E-09
f;g;‘f;"g&”;c)a' ozone formation - human health |+ ¢ N\MVOC eq. 2.78E-03 2.04E-05 7.19E-05 1.01E-02 1.23E-04 1.31E-02 -1.33E-04
Resource use, fossils (PEF-ADPf) MJ 2.02E+01 3.58E-01 3.38E-01 1.67E+02 4.48E-01 1.89E+02 -2.79E-01
REETE I, Gl B E G 1.81E-04 7.31E-09 8.34E-09 1.88E-05 1.06E-07 1.99E-04 -4.45E-07
(PEF-ADPe)
Water use (PEF-WU) 5.94E-01 7.41E-04 2.82E-03 3.33E-01 5.33E+00 6.26E+00 -6.94E+00
Resource use indicators
. Manufacturing Distribution Installation Use End Of Life

Indicators A1A3 A4 | A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Net use of fresh water 1.39E-02 1.73E-05 2.20E-04 8.05E-03 1.50E-01 1.72E-01 -1.67E-01
Total primary energy 2.33E+01 3.60E-01 4.10E-01 2.78E+02 4.99E-01 3.02E+02 -3.98E-01
Total non renewable primary energy 2.02E+01 3.58E-01 3.38E-01 1.67E+02 4.48E-01 1.89E+02 -2.79E-01
Total renewable primary energy 3.13E+00 1.46E-03 7.22E-02 1.11E+02 5.01E-02 1.14E+02 -1.20E-01
Non renewable primary energy used as energy 1.91E+01 3.58E-01 3.38E-01 1.67E+02 4.48E-01 1.88E+02 -2.79E-01
O ARG PIMAR CASIAVISECES (R 1.06E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.06E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 2.40E+00 1.46E-03 7.22E-02 1.11E+02 5.01E-02 1.13E+02 -1.20E-01
Renewable primary energy used as raw material 7.26E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.26E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01502-V01.01-EN



Waste category indicators

Indicators

Manufacturing

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Distribution

A4
8.51E-05

Installation
A5

2.54E-03

B1-B7

3.03E-01

C1-C4
5.39E-02

End Of Life |

GLOBAL

3.95E+00

0.00E+00

1.87E-03

9.49E-03

9.29E-01

9.29E-04

1.14E+00

0.00E+00

1.48E-06

2.18E-06

2.39E-04

4.23E-07

3.22E-04

0.00E+00

Manufacturing

Distribution

A4

Installation
A5

B1-B7

C1-C4

End Of Life |

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 0.00E+00 3.21E-03 0.00E+00 0.00E+00 4.55E-03 0.00E+00
Materials for recycling 3.42E-12 2.54E-02 6.03E-07 1.29E-10 3.19E-02 0.00E+00

Biogenic carbon content

Packaging

Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
3.27E-02 1.12E-03 2.93E-03 3.68E-02
Biogenic carbon content (declared unit) 9.16E-03 4.23E-04 1.16E-03 1.07E-02
Biogenic carbon content (functional unit) 9.16E-03 4.23E-04 1.16E-03 1.07E-02

ADEME APESA/RECORD EN 16485

Prod dboard T .

a 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbo ent (declared 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbo e ona 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

Additional references (see Appendix) covered by PEP, the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA). The impact values are either directly calculated
by LCA or by extrapolation following PEP Ecopassport rules. However, some of the detailed conditions applied in those cases may differ from the main reference.

Verification

PEP-PCR-ed4-2021 09 06
PSR-0005-ed3.1-2023 12 08

Information and reference documents: www.pep-ecopassport.org

Drafting Rules
Registration N°:  HAGE-01502-V01.01-EN

Supplemented by

Verifier accreditation N°:  VH65
Date of issue: 3-2026

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Validity period: 5 years

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01502-V01.01-EN



Appendix

(PEF-GWPH) - [kg CO2 eq.]
ncidence of diseases]

-cancer (PEF-CT!
human health (PEF-IR) - [kg Bq U235 eq.]
Land use (PEF-LU)

Acidification (PEF-AP) - [mole H+ eq.]
Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Components for re-use - [kg]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Exported energy - [MJ]

Hazardous waste disposed - [kg]

Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Materials for energy recovery - [kg]

Materials for recy
Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Radioactive waste disposed - [kg]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADPf) - [MJ]
Resource use, minerals and metals
(PEF-ADPe) - [kg Sb eq]

Total non renewable primary energy - [MJ]
Total primary energy - [MJ]

Total renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]
Use of secondary material - [kg]

Water use (PEF-WU) - [m3 eq.]

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]

Climate change-Fos:

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Human toxicity,

Non renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]

Non renewable primary energy used as raw material - [MJ]
EF-particulate Matter (PEF-PM) -

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

oM

I AN IRIIERN  sorco| osicon| saseae| oomeor| 2omeor| oooeco| sescor| areos| rsicos| saseos| ooomuo| ssomon| ssicos| asieos| soscon| rosor| rsscos| ssoeos| 1sseca| 2cieor| roreor| roseo| rsseor| esrwon| ameos| rezeos| zeocun| raseor| acimor| vsreod] zoaeor| asseor| srseoo| ooueao| ooomco| oweo| sseor

=a)

=

2 < WL4011WG soucos| rareor| ameca| soor| raueos| omeo| arcor| swscos| raseor| rareos| asocos] rsscao| rereos| scoeon| sweco| sesces| ssseea| rmeos| viscco| arreor| soreor| vsscon| reseor| sscon| smeco| ruscos] suor| rareor| svoeor| soseos| soe| aseor| soveco| omen] acocan| arieos| aron

o

8

5 VWADPORIICHIN  soicoo| roseor| smece| wsscor| srseon| oooeco| seamior| sseoo| rascos] soseos| azeos| asseon| sasecs| svieos| zmcon| oamece| vsseos| rmews| raweor| wsor| voswor| vareo] seor| swseos| sueos| sseos| soscor] rsor| avmor| raseos] aveor| ssmor| zoseuo| oomoo| ooeco] ssses| sseo

c

©

= WADZIGRIERN  swcoo| rescor| ssscan| ssoeor| arsco| oooeco| somar| soveon| rascos| saeoo| aseoe| tsomon| reasos| awmeos| arcon| zosca| rsocon| raseee| vsseca| aveor| rsmeor| vaoeeo| roeor| ssion| aweos| seos| sewor| rsscor| asnmor| rzzeos| avoeor| 2smor| 2ooo| oovean| owomco| sz szmeor
VALVEPEITEM  coocoo| osscor| suncce| rosmoo| zoreor| ooocan| eraor| ameeos| vreces| sasees| omomon| ssseco| sercos| sszeos| aermoo| wmcor| rseco| sseens| 1socce| awscor| coreor| oameor| rsscor| soreos| 2oocas| rowos]| 2amoo| rreor| avear| 1o 2veor| 2swor| soeo| owson| omeco| oooeco| sszean

c <

= NEZENIER  <iscos| ccimoe| swos| aovcoo| soseos| ooocan| smeor| 7sscos| sreeos| saecs| owmoo| wsices| sowre| raen| roreor] rsscos| ooceo| ssera| 1meos| roreos| ssseor| ocomon| zwero| zriero| zoreos| raseos| rascos| ooveco| ssseer| rieon| ssscor| ssocor| taseos| ocomon| omeco| ooceco| rarens

=

=]

2 WL4011WG sovcos| azseea| oreos| 2asece| ssieos| ooeao| sator| sovcos| ssreos| oszeos| ovocoo| oaceos| sssere| sssen| roes| nwosos| oooeco| cooman| rssos| rsscos| sszeor| oooeon| amero| susero| ssseos| rssece]| raiwos| ooneoo| sszeor| roseon| sszeor| ssocor| rzrees| oooson| omeo| ooceco| raseas

=

% WALORRITCRIN  vocos| ssscon| ossen| 2aocor| smon| ooomoo| suscor| soneoe| sescoo| ssseos| oooeoo| ssscos| ssers| asmen| rescod] osreos| osmeo| ovocn| smmeos| rsscos| asteor| oomeo| zesero] ssero| arscos| rsoece| rireos| omeon| ssreor| rsocos| asieor| ssseor| rireos| ooocao| oooeo| osoeco| rrreas
WALZIORRIEM soocos| cosewa| sroco| zanson| ssveos| ooneeo) ateor| soseoo| woreon| soseos| oooeo| sazeos| asers| wssen| raseos| osscos| owocuo| ooeco| tsscos| sosees| ssreor| ooeoo| soserof sweo| sreos| sseos| ra0ces| ooocao| ssicor| roseon| ssteos| ssreor] vaness| oomeco| oomeco| aoocco| rsscos
WALNEOPRIETEMIN  oseos| zommeof soamos| zovcor| asseos| ooocan| smeor| 7sscon| sreec| oanees| owmon| esieos| asrere| raserr| roos| rweos| ooeeo| ssera| 1meos| vsreos| asseor| ocomon| awero| arieno| zosees| reseos| rascon| ooneco| asseor| 7areos| asscor| asoeor| tssees| ocomon| oomeoo| oooeco| rsrens

c

R A CIRIIER  oscor| omcce| sorcae| saicoe| asieo| oooeco| ssseor| asosor] asocos| siseos| oooceo| esieos) sweon| rorero| seseos| swos| soveos| 2sewe| cmeor| o] ameor| ooeo| srero| someto| riocos| zuseos| razeoe| owmoo| swcor| sseos| sseor| avcor| 7z2eeef oooeaof oomco| omeno| zeeas

[

= WL4011WG 1| 1iscor| ssoce| asieca| asien| ooeoo| eoieor| srmeor| oomos| asssor| oooeoo| armess| saros| wsiero| ruseos| rson| aveos| ssieer| svecos| rsoeca| soor| ooeo| rosero| sowerof rosor] swcos| sraeos| oooean| soreor| asico| soreor| soseor| srsca| oomeoo| oooeco| coosco| exoeos

2 WTN4011BG

2 roreos| 120601| 7sseor| ssreca| ssiern| ooeeo| rsueor| rsaeor| sowcs| asosos| oooeoo| asseas| swos| rsseo| rrseos| ireeon| aseeos| ssseor| seseos| rsseca| saseor| ooeo| rriero| ormero| rueor| serwos| rsseos| oooean| sseor| arreo| ssseor| srseor| 7sswcs oomeo| oooeco| oooeco| esseos
UALZIRRIEM oocoe| 1zeor| raiecs| sooson| ssmero| oomeo] raseor| raseor| soscos| ameos| omeo| ssseas| sueos| rssero| rasos| reseos] aoreon| serees| smeos] ssseos| szmeor| omeoo| raserof sseo| roseos| sareos| roseos| ooocao| smeor| seseon| saseos| sscor] roeos| oomeco| omeco| woocco| ssseos
WADIRITCRIN  oscoe| oaoe| soece| szicor| sserof oowoo| sseor| aooeor| sseos| seor] ooeoo| zsics| seseos| rorero| ssecos| sweas| szeos| asoe| oaeos| swes| sseor| ooeco| siro| sosero| niocos| svseos| rameos| oweon| ssseor| ssucos| sseor| asweor| razoe| ooocao| oooeco| owoeco| 2szeas

o~

oo WADZICRITERM  <vicoe| saneoo| zoecor| soscon| 17600r| oooeco| rosar| 2eos| areos| eoseoe| ooomuo| sosor| roswos| 2sses| rareon| asomoo| osomoo| soseor| soseos| oaor| 1orer| ooveo| ssuece| ameor| voveor| 2aseos| wriene| omeoo| 1ereor| vssees| rorena| amsece| vsreee| oooean| ocosco] osseoo| azeor

m WL4011WG surco| soreo| 1aoor| sascon ooneoo| ooeao| raccer| aweos| soices| ssseor| ooocuo| aszcor| roreos| 2sseos| rirean| sscor| osoeoo| ooeof 1sece| rssmoo| 2rner| ocvean| samece| asicor| vsscr| srreos| siocor| omeoo| 2sieco| 2sseos| 2rieca| zesmce| srveor| oovean| ocomco] oseo| ssseor

VALVEOIRIICMIN  orcce| sorcan| raocor| saseio| oooeco| ooocan| vamor| aueos| ssiecs| ssaece| ovomon| aweeor| roreos| asseos| rirmor| assor| oooeco| coocon| rsssce| sssmoo| 2| ocomon| ssssos| ssieor| reseas| sireor] sioeor| ooveco| avieae| 2seos| 2vieca| 2sco| siocor| osomon] oweo| oooeco| sesean
WALZREITEIN  «ocoe| soica| roocor] sescico| oooeao| ooneen] raeor| 2ueos| sueos| ssceco| omeo| seson| soreco| asseos| rien| ameor| osoeuo| coopeo| rsuccs] roeeof 2necr| omeo| ssmeco| ssieor] resoef avreos| ssseor| ococan| svmor| asoe| avieea| 2emeca] swocior| oooeoo| omeco] aoocco| ssseor
WALIZRITCHIN  <vvcoq| soscon| zomeon| soscio] srmsor| oooeo| eseior| asseos| srseos) sosecs| oomeoo| soscor| roseos| 2sscos| roreon| saoo| omewo] coseor| soseos| saseor| roreer| ooeo| asmece| ameor| roveca| ssmeos| ssreoe| ovocan| veror| rscos| roreas| ameca| trieice| oooeco| omeco] aoceo| sseor

LN

AN MMV oo vrcor| sosce| soamor| romero] owean] ameo] rsoci] sscos] sscos] oweon| swece| swecn| sveos| sean| soere] ovew| rmenl voco| smeos] sscor| oweor| emeos| vucos| roeo sewo| socn| ovew| soco| veor] soo| aseo| soew| omew| owew| omew| suew

=

o O WL4011WG snocos| tsieor| swens| rosor| 7siero| ooeo| azeco| rorwon| wareos| sareco| ooocuo| arcce| ssecos| ssoeos| sesess| r0gor| osomoo| oooeo| areeor| aroses| 1sseco| ocvpan| razece| sacon| sseos| zerear| orvese| omeoo| 1sseco| rrseor| rsscon| tsrmoo| amseee| oooean| oomoo] oweo| 1scear

e}

c VALVERRIICMIN  cocoo| rssmor| srmecs] nsscor| raseio| ooocon| szseioo| zoscos| riscos| 1auees| ovomon| aroc| soees| ssseon| ssiwos| rsocor| oooeco| coocon| soreor| ssomos| raoeaof ooomon| raosos| szeeo| seiean| seor| woreor| oooeco| rascan| rareor| rasmoo| 1rsco| ooreca| ocemon| oweco| oooeco| rssan

w
WADZIRRITERN  coocor| rsrcon| omeas| ssseor| rascio| oooeco| szseco| roron| sricos| roreos| oooeuo| eriece sowwos| saveos| saseas| 1saor| ouceo| ooveco| scceor| seseos| 1sseoo| oooeo| ravece| sason| seswor| szseor| oazeoe| omeo| sseo| rrzeor| rsseon| tsoeco| ozzece| oooeao| ooomco| oweno| 1scen
VADIELTCRIN  orcos| rrscor| vmeco| tomcor| romrof ooomoo| szmeco| vsmece| smeos| assos] oooeoo| swscos| ssseos| swoeos| soscos| sssecof omeo| rarerof sseor| srocos| asseor| oomeo| seseon| rsseos| riseos] aveor| asmeo| omen| asseor| roscor| waseor| asseor| ssocos| ooocao| oooeo| osoeco| seao

D WALZITEIEM e sosee| scocos] aooe| oooeco| ooneo] sases| zreoo| 2asos| zsneos| oomeoo| oworan| 2srero] asero] aseos| aseor| owosco| ooeco| toreor| avoso| areor| oomeco| -vzsecs| 2soros) tsseon| oooeoo| ravcor| wooeao| rseor] asseor| armeos| secor] vaneor| oomeco| oomeco] aoocao| saseon

=]

5 WL4011WG asscos| azeor| areos| aveor| oomeoo| ooveo| soseor| vsicos| asos| asseos| aoocun| vatcor] asseo| 2weos| vozea| rsreco| osoeoo| ooveof wsaeor| sowos| wromor| ooopan| szneos| sorcos| wsreos| soocos| azveor| omeoo| rrocor| vszeos| 7szor| sseoo| azseor| oovean| oomoo] osseo zrnear

= VALVZGRIICM <oicor| -1meor| soas| roreor| ooneco| ooocan| 2ooeor| -rascos| zeoes| zseor| omomon| riocs| sarerof tateos| -towos) irreco| oooao| ooocon| uscor] soscos| sscor| ocomon| aoseos| asomoo| ssscon| -voseos] azocor| oooeco| sseer| vireon| rsscor| 1seco| azmeor| owemon| oomeco| oooeco| -rovean
WTN4011WG sacos| trreor| srseas| voogor| oomeoo| oooecof 2rmeor| -vassos| rescos| soieor| coocuo| r10s0s| szoeio| oseos| 1ooeas| areo| osomoo| oooeao| ssseor| sowwos| wiscor| ocoean| soecs| arscon| sorcos| rsseos| 2sseor| omeoo| rascor| vzzeos| sseor| ssmoo| zasmor| oovean| ocomco] oweol -razear
WALVEIPERIETCMIN - oscoe| sccecef soseor] ssocor| ooneo| oooman| sarece| sarcos| zaseos| 2oiecr| ovomoo| oomeo| 2mero| szmero| wsoeor| rsseor| ooveco| cooeun| -tsseor| ouceo| 27reor| ooomon| -tasoo| zaseo| rszean| ooomco| tiocor| ooneo| 2rreer| aszeor| arreor| sseeor| -vtseor| ocomon| omeo| occeco| ssoean

PEP ecopassport 5/5 HAGE-01502-V01.01-EN



